SSHiEB AT EFMS N ER

BE: 3F SSEHMBEERE: FHM (FEEHE: 9)
PL25 ,SSER¥: 4R , & (PL, t : 20 mm)
SSEEEE:
PL25 ($8#R:PL, t : 20 mm), BBV E: 157 kg/M, BT REE: 1.00 M2/M, B5 K #tBE I REHE: 1.00 M2/M
HEER: [ERTEER]25"25%2= 1250 cm2
E£: 1250.00/10000%157/1000= 0.0196 T (N#)
FRE&: 1250/10000*1.00 M2/M2= 0.125 M2
B K Ht B R EF&: 1250/10000*1.00 M2/M= 0.125 M2
He R @& 5= 0.000 M3

PL20 ,SSER# 4R , R (PL, t : 20 mm)
SSEEIHE:
PL20 ($#R:PL, t : 20 mm), (U &: 157 kg/M, BEAIREE: 1.00 M2/M, By K #t B E I REH: 1.00 M2/M
EETER: [EM#ES$R]20%20%2= 800 cm2
E£: 800.00/10000%157/1000= 0.0126 T (l)
FE#&: 800/10000%1.00 M2/M2= 0.080 M2
Bh At B R EF&: 800/10000%1.00 M2/M= 0.080 M2
He R &z @A 5= 0.000 M3

PL25 ,SSER¥: 4Rk , & (PL, t : 20 mm)
SSEEIE:
PL25 ($8#R:PL, t : 20 mm), BV E: 157 kg/M, BT REE: 1.00 M2/M, B5 K #tBE I R EMHE: 1.00 M2/M

EETER: [ L TEER)25%25%2= 1250 cm2
E£: 1250.00/10000%157/1000= 0.0196 T (N#)
FEE: 1250/10000%1.00 M2/M2= 0.125 M2
B At B R EE: 1250/10000%1.00 M2/M= 0.125 M2
HeRighzZ @5 5= 0.000 M3

PL20 ,SSER¥E 804K , & (PL, t: 20 mm)
SSERIE:
PL20 ($4R:PL, t : 20 mm), BV &: 157 kg/M, BEAIREE: 1.00 M2/M, By K #t BE M REH: 1.00 M2/M

HEETER: [ LEERESIR]20720%2
=800 cm2
E£: 800.00/10000%157/1000= 0.0126 T (l)
FKE&: 800/10000%1.00 M2/M2= 0.080 M2
B Nt B R ERE: 800/10000%1.00 M2/M= 0.080 M2
HeRighzZ @5 [fR5=0.000 M3

PL15 ,SSERE:#itk , B4 (PL, t: 15 mm)
SSEREEE:
PL15 (88#R:PL, t: 15 mm), B E: 117.75 kg/M, BEALREE: 1.00 M2/M, B5 K #t BE R EH: 1.00 M2/M

AT ER: [SCHESR]9.5*30%4
=1140 cm2
E£: 1140.00/10000*117.75/1000= 0.0134 T (M)
KEM: 1140/10000%1.00 M2/M2= 0.114 M2
By K #tEBRERE: 1140/10000%1.00 M2/M= 0.114 M2
He Rz @& [fR5=0.000 M3

PL15 ,SSERE:#tk , B4&:(PL, t: 15 mm)
SSEREEE:
PL15 (88#R:PL, t: 15 mm), BB E: 117.75 kg/M, BEALREE: 1.00 M2/M, B5 K #t BE REHE: 1.00 M2/M

HEEFTER: [SCHNEIR]14.35*28.2%4
=1618.68 cm2
E£: 1618.68/10000%117.75/1000= 0.0191 T(li)
K EE: 1618.68/10000%1.00 M2/M2= 0.162 M2
B Nt B RERE: 1618.68/10000*1.00 M2/M= 0.162 M2
He Rz @& [fR5]=0.000 M3

PL15 ,SSEREE: MR , H#&:(PL, t: 15 mm)




SSEREE:
PL15 (884%:PL, t : 15 mm), B8 &E: 117.75 kg/M, BB REE: 1.00 M2/M, Bh K #t BE R EE: 1.00 M2/M
AT ER: RS W (D+H)*N]120*45*25= 135000 cm2
E£: 135000.00/10000*117.75/1000= 1.5896 T (li)
KR 135000/10000*1.00 M2/M2= 13.500 M2
By X HE B R EE: 135000/10000%1.00 M2/M= 13.500 M2
He R @& 5= 0.000 M3

PL10 ,SSERE SRR , 4% (PL, t: 10 mm)
SSEEEFE:
PL10 (#84R:PL, t : 10 mm), EE{VE: 78.5 kg/M, E{URE&: 1.00 M2/M, Br K ftBE I RE&: 1.00 M2/M
EEFTER: [ AKAR]310*185+310*65

=77500 cm2

EE£: 77500.00/10000*78.5/1000= 0.6084 T(M§)
FMEME: 77500/10000*1.00 M2/M2= 7.750 M2

Bh Xt EBREFE: 77500/10000*1.00 M2/M= 7.750 M2
HeREP =88 [F5=0.000 M3

PL15 ,SSER¥: 84k , & (PL, t: 15 mm)
SSEHIE:
PL15 ($84%:PL, t : 15 mm), BB E: 117.75 kg/M, BB RETE: 1.00 M2/M, BF At BEMREE: 1.00 M2/M
HEFTER: [TAMER]310*10*8
= 24800 cm2
E&: 24800.00/10000%*117.75/1000= 0.2920 T("ﬁ)
FMEF&E: 24800/10000*1.00 M2/M2= 2.480 M2
Br At B REFE: 24800/10000%1.00 M2/M= 2.480 M2
He APz BE [F5=0.000 M3




